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General English Exam (past paper)

Section 1  Grammar

Instructions: Choose the one alternative that best completes the sentence.

1. Just a moment. [ will put you _____ to the right department.
a) an
b) for
c) through
d) upon

2. The waiter has brought five pizzas! We have got

a) too much
b) too many
c) too few
d) too little
3. Don tbe___ about saying what you really think.
a) embarrass
b) embarrassing
c) embarrassed
d) to embarrass
4.  The traffic in Macao is much __ before.
a) worse than
b) bad as
c) the worst
d) Worse

5. My little sister denied the rest of the chocolates.

a) to eat
b) eat

c) eaten

d) eating

6. Her husband is a taxi driver, so he usually home very late.

a) gets
b) got
c) has got
d) 18 getting
7. I must go to the hairdresser s soon, because my hair __ very long.
a) gets
b) 18 getting
c) got
d) get
8. Liza _____ her car for over five years, and she is still happy with it.
a) has
b) is having
c) has been having
d) has had

(1

mark each)

pizzas for only three people.
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10.

11.

12.

13.

14.

15.

16.

12

It was raining heavily when we finally __  at the station.
a) arrive
b) arrived
C) were arriving
d) have arrived
As soon as the film _ , Helen realized that she it before.
a) started; has seen
b) had started; saw
C) started; saw
d) started; had seen
I__ onthethree o clock train unless the meeting finishes late.
a) will be
b) am
C) was
d) have been
Spanish in Spain and Mexico.
a) speaks
b) is spoken
C) is speaking
d) spoke
Today, many serious childhood diseases by early immunization.
a) are preventing
b) can prevent
c) prevent
d) can be prevented
You have to pay extra if you take too with you.
a) much luggages
b) many luggages
C) much luggage
d) many luggage
“Victoria is going to be famous someday. She in three movies already.”
“I' m sure she 1l be a super star.”
a) has appeared
b) has been appearing
c) appeared
d) is appearing

The farmer s barn caught on fire some time during the night. By the

time the firefighters arrived, the building to the ground.
It was a total loss.

a) had burned

b) burned

c) had been burning

d) was burning

17

18

19.

20.

21.

22.

23.

“Just relax, Anthony. As soon as your sprained ankle heals, you can

play soccer again. At this time next week, you soccer again.

a) will have been playing

b) will be playing

c) will have played

d) will play

“You haven t eaten anything since yesterday afternoon.You be really hungry!”
a) had to

b) will

c) must

d) can

“Why are you so sure that John didn t commit the crime he s been accused of committing?

‘e

He that crime because I was with him, and we were out of town that day.”
a) mustn t have committed
b) shouldn t have committed
c) couldn t have committed
d) may not have committed
There was a very basketball game on TV last night, but I was a
bit that my team lost.
a) exciting...surprised
b) exciting...surprising
c) excited...surprised
d) excited...surprising
“Does anybody know on the ground?”
a) that how long this plane will be
b) how long this plane will be
c) how long will this plane be
d) how long will be this plane
The owner of the building supply store doesn t mind his
customers discounts when they buy in large quantities.
a) to be given
b) being given
C) to give
d) giving

“Why didn  t you tell me you were having so many problems?”

‘e

1 you, but I figured you had enough to worry about without my
problems, so I said nothing.”

a) would tell

b) would have told

c) would be telling

d) had told

13



24.

It would have been a much more serious accident fast at the time.

a) if she drove

b) had she been driving
c) she had driven

d) was she driving

Section 2 Vocabulary

14

Instructions: Choose the one alternative that best completes the sentence. (1 mark each)

25.

26.

27.

28.

29.

30.

Betty felt happy when Andy her to his graduation party.

a) inverted

b) invited

C) invoiced

d) interfered

In order to increase sales, they decided to sell their products by holding n
shopping centres.

a) promotions

b) punctuations

C) predictions

d) pronunciations

Daniel s parents love music so they sent him to learn to play the when he was a

small boy.

a) plane
b) panel
c) piano
d) pasta

Jenny enjoys playing tennis but is not always able to find a to play with.

a) companion
b) comparison
c) champagne
d) commission

This company is making big money every year. It is very

a) succeed
b) success
C) succeeded
d) successful

Nicole s company really needs more office like fax machines and photocopiers.

a) excitement

b) equipment

C) entertainment
d) assignment

31

32.

33.

34.

35.

36.

37.

38.

Nowadays computer users are careful and will any dangerous emails or files so

they won t get any computer virus.

a) deplete
b) dilate
c) delete
d) delay

Patrick is fond of numbers and has always wanted to become a/an focusing on tax

and financial matters.

a) attendant
b) accountant
C) counter

d) contestant

Owen s father wants to manufacture toys in Macau so he has rented a unit in a
building.

a) hotel

b) hospital
c) library
d) factory

Stephen is from a poor family and his father often has to money from friends to

make ends meet.

a) rent
b) lend
c) borrow
d) bore

To improve sales the company has decided to give big to all customers, in the
hope that with the money saved, they will spend more on other goods.

a) discounts
b) accounts
c) recounts
d) miscounts

Most big companies have many separate each focusing on a different function.

a) apartments

b) attachments
c) departments
d) detachments

The disagreement between the management and the workers led to a

a) walkway
b) walkout

c) sidewalk
d) walkover

The main techniques used in drawing are line drawing, blending and

a) kicking
b) shading
c) drilling
d) hammering 15
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39.

40.

41.

42.

43.

44,

45.

46.

The TV program is not received clearly because of

a)
b)
c)
d)

The drugs the doctor

a)
b)
c)
d)

I turn to the

a)
b)
c)
d)

The government official was

a)
b)
c)
d)

She used the

a)
b)
c)
d)

[can t
a)
b)
c)
d)

I am afraid I am not

a)
b)
c)
d)

We had to pay

a)
b)
c)
d)

interference
blockage
manipulation
adventure

prescribed
operated
discharged
opened

editorial
gossip column
comic strip
horoscope

to have accepted a bribe.
attacked

anticipated

appointed

alleged

to hold two sheets of paper together.
paperclip

punch

scale

eraser

and have a good time while there is still work to be done.

sit back
stand up
run after
break in

to comment on this case.
in demand

in a whisper

in person

in a position

upper hand

cold feet
through the nose
a straight face

caused by the poor weather.

have made me feel drowsy and I should not drive.

of the newspaper to read about the private lives of celebrities.

to get a hotel room as we had arrived at a busy time.

47. They don’ t know the about running this kind of business.

a) first thing

b) two minds

c) eleventh hour
d) second to none

48. Amy: I can t stand spicy food!

Betty: .
a) I don t believe you!
b) How embarrassing!
c) Serves you right!

d) Neither can 1!

Section 3 Reading

Passage # 1
Instructions: Read the following passage and for each question below it choose the one best
alternative from (a), (b), (c), (d). (1 mark each)

9-YEAR-OLD Boy Saves FrRiEND s LiFe IN Icy PoND
By Karen Massie

Nine-year-old Victor Flores is being called a hero after saving a friend who fell through an icy pond.

Flores said he was a bit reluctant on Monday to walk close to a man-made pond on his grandfather’ s
property in the Amador County town of Pioneer. He explained that when he was there a week ago
with a seven-year-old neighbour, the ground was covered with two feet of snow and the pond had
iced over.

Flores said he and his friend, Aiden, were chasing some ducks when Aiden decided to venture out
onto the ice. "I told him not to do it,” Flores said. “But he kept saying come on, it s okay.
Within minutes the fragile ice broke and Aiden fell into the frigid water that was about 15 feet deep.

Flores tried to grab his friend. “And then I slipped on the edge of the pond and I fell in, too,”
Flores said. "I was shivering and I lost both of my boots as soon as I fell in.”

He also lost his hat but probably didn t notice because Aiden panicked and was flailing in the water.
Flores explained, ~He was screaming my name and trying to pull me under so he could stand on

’

me.

But Flores kept his cool and pulled Aiden toward the steep concrete rimming the pond. I grabbed
onto a crack at the edge and pulled myself out,” said Flores. “Then I ran and got a pole to pull
him out. But Aiden was having a hard time holding on and kept slipping off.”

Flores didn t give up and was finally able to haul his friend out with the help of his grandmother.
She ran to the pond when she realized the boys were in trouble.

“When we arrived Aiden was very, very cold and in shock from being in the cold water,” said

California Fire Department Captain Mark Chatterton, who was among the rescue workers called to
the scene.

17



Chatterton was surprised to learn that Flores had the presence of mind to pull his friend to safety.

“They could have both drowned,” Chatterton said. ~In my mind he was the true hero of this
incident. We just came in and took over the efforts that he started.”

Both boys were transported to the hospital but recovered and were sent home.

Questions 49-54:

Choose the one best alternative from the four options (a), (b), (c) and (d):

49. In the account, who saved the boy from drowning?

a) Flores.

b) Captain Mark Chatterton.
c) Flores grandfather.

d) Aiden.

50. What does frigid~ water mean?

a) Lukewarm water.
b) Very hot water.
c) Cool water.

d) Very cold water.

51. How did the boys get into the water?
a) The ducks chased the boys into the pond.

b) Flores pushed Aiden into the water.
c) The boys went swimming in the pond.
d) The ice broke and they fell into the water.

52. The ice on the pond was...

a) two feet deep.
b) fragile and easily broken.
c) not easily broken.

d) fifteen feet deep.

53.  What showed Aiden had panicked?

a) He was wildly hitting the water and screaming.
b) He had lost his hat.

c) He couldn t hang onto the pole.

d) He was very, very cold.

54. Flores kept his cool means.....

a) He found his hat and put in on his head.
b) He didn t mind that he was cold.
c) He became angry and lost his temper.

d) He did not panic and helped his friend.
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Passage # 2

Instructions: Read the following passage and for each question below it choose the one best
alternative from (a), (b), (c), (d). (1 mark each)

THE WARMEST WELCOME
By Harmiani Octaviamin

In July last year, I was on my first overseas journey from Bali to join my husband, who had moved
to Australia two months before to study. I was loaded up with baggage and two small kids (four-and-
a-half and two-and-a-half years old at the time). I was so worried that I wouldn t be able to man-
age the journey on my own, I was unable to get excited about my children being reunited with their
beloved daddy.

I am a Muslim and wear a veil and, as I had never been to Australia, I did not know how my ap-
pearance would be received. But I had to go.

My uncle drove us to the airport. With my younger son on my hip, I had to push the baggage trolley
while keeping a close eye on my older son. It was an exhausting balancing act.

On the plane, my children played for a while then fell asleep. Now I could relax, I thought, and I
watched a couple of movies. But my children were sleeping so soundly I couldn t wake them up
when we landed in Darwin. How could I get them both off the plane and also manage our luggage?

“Do you want us to hold the children?” asked a friendly woman. “Yes, please!” I replied.

“Thank you.” Smiling, she picked up my older son and her friend, another woman, carried my
youngest. | had to go through immigration before collecting my luggage - all the while, my two
boys slept on. But the two women very patiently waited until I was finished with immigration. In the
luggage-claim lounge, a man in his 40s gave me a hand as he saw me struggling to take my big bags
off the conveyor belt.

The two women were still holding my sons when we met my husband in the arrivals lounge. We

thanked them all for their golden hearts and wished them good days for the rest of their lives. This
episode impressed us so much — what a nice welcome to Australia!
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Questions 55— 60 -

20

Choose the one best alternative from the four options (a), (b), (c) and (d):

55.

56.

57.

58.

59.

60.

Why was the woman travelling?

a) She was going to Australia with her kids to join her husband.
b) She was going to Bali with her kids to join her husband.

c) She was going to Australia to take her kids to school.

d) She was going to Bali to take her kids to school.

What was unusual about the woman s appearance?

a) She had two kids.

b) She was wearing a Muslim veil.
c) She had never been to Australia.
d) She had a lot of baggage.

Who drove her to the airport?

a) Her husband.

b) Her younger son.
C) Her older son.

d) Her uncle.

How did the two women help her get off the plane?

a) They carried her luggage.

b) They lifted her veil.

c) They carried her children.

d) They helped her get her bags off the conveyor belt.

How did the man in his 40s help her?

a) He carried her younger son.

b) He carried her older son.

c) He waited until she was finished with immigration.
d) He helped her get her bags off the conveyor belt.

Who met the woman and her two kids in the arrivals lounge?

a) Her uncle.

b) Her husband.

c) The flight attendant.
d) The pilot.

Passage # 3

Instructions: Read the following passage and for each question below it choose the one best
alternative from (a), (b), (c), (d). (1 mark each)

HYDROELECTRIC POWER FOR AFRICA FROM CONGO DaM

The Congo River has the largest water mass of all African rivers. It also has the potential to produce renewa-
ble energy for millions of people.

Recently South Africa has signed a deal with the Democratic Republic of Congo in which it agrees to buy
large amounts of electricity from the African country s water power stations.

The Grand Inga, when completed, will create almost as much power as the Three Gorges Dam in China. The
hydroelectric power station will be built in a valley about 50 km upstream from the mouth of the Congo Riv-
er. Up to 6 separate power stations will produce over 40,000 megawatts of electricity.

The project will get money from the World Bank and other development banks around the world. South Af-
rica, the continent s largest industrial country, is also expected to pour billions into the project. Nigeria and
Egypt have already announced that they are willing to buy energy from the new dams.

The first generator is scheduled to produce electricity as soon as 2020, a time when much of Africa will be in
desperate need of power.

The dams are being constructed in a country where only 10% of the population have electricity. Especially

in remote villages, electric power is rare and often turned on only for a few hours a week. Sometimes there
are only small generators that produce barely enough electricity to power up the villagers cell phones. Many
people depend on candles for light.

There are already critical voices in Congo who are against the dam project. They claim that most of the ener-
gy will go to other countries and will only make the corrupt government richer. Large parts of the population

will continue to be without energy.

The project s supervisors, however, say that The Grand Inga project will be completely funded with money
from foreign investors.

Two existing dams in the region date back to the 1960s and 1970s. According to energy experts, if the gov-
ernment had modernized them they could produce enough power for most of the African country.
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Questions 61— 66:
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Choose the one best alternative from the four options (a), (b), (c) and (d):

61.

62.

63.

64.

65.

66.

How will the construction of the Grand Inga dam be funded?

a) With money from the World Bank.

b) With investment from foreign development banks.
c) With billions of dollars from South Africa.

d) All of the above.

Which of the following countries will Congo export electricity to?

a) South Africa.

b) Egypt.

c) Nigeria.

d) All of the above.

Which of the following statements describes the current status of electricity supply in Congo?

a) Electric lighting is available for many people.

b) The already existing dams provide enough electricity for most of the country.
c) Only a small portion of the population have electricity.

d) People in remote villages have electricity several hours every day.

Some people in Congo do not support the Grand Inga project because...

a) They are against investment by South Africa.

b) They think the project is too costly.

c) They are worried that government officials will benefit more than ordinary
people.

d) They are worried that the project will not create enough job opportunities.

According to the article, which one of the following statements is true about the
hydroelectric power station constructed near the Congo River?

a) It will supply electricity to all of Congo s population.

b) It will be financially supported by the government of Congo.
c) It will be completely funded by foreign investment.

d) It will be the largest hydroelectric power station in the world.

How many already existing dams does Congo currently have?

a) One.
b) Two.
c) Three.
d) Six.

Passage # 4

nstructions: Read the following passage and for each question below it choose the one best alter
native from (a), (b), (c), (d). (1 mark each)

BaLp EAGLES
by Scot Hoffman

A bald eagle s white head may make it look bald. But actually the name originally comes from an
old English word, “balde,” meaning white. These graceful birds have been the national symbol of
the United States since 1782. Bald eagles were on the brink of extinction because of hunting and pol-
lution. But laws created almost 40 years ago have helped protect them, and they ve made a come-
back.

Female bald eagles are a bit bigger than males. Their bodies can be 3 feet (1 meter) long, and their
wingspan can be 8 feet (2.4 meters) across. That s about the distance from the floor to the ceiling!
Babies, called eaglets, are born light gray, then turn brown. When they are 4 to 5 years old, they
develop their normal white heads and tails. In the wild, they can live to be 35 years old or more.

Eagle nests are called aeries (pronounced ~AlR-ees” ). Bald eagles build their nests at the very top
of tall trees so the eggs will be safe. Some parents come back year after year to the same nest, add-
ing more sticks, twigs, and grass each time. One old nest in Florida grew to 9 feet (2.7 meters) wide
and 20 feet (6.1 meters) tall and weighed more than 4,000 pounds (1,814 kilograms).

One of the most awesome sights in nature is a bald eagle swooping down from the sky to grab a
fish. They can soar over 10,000 feet (3,048 meters) high, and their great eyesight lets them see fish
up to a mile (1.6 kilometers) away. When they attack, they drop down at up to 100 miles (161 kilo-
meters) an hour! Then they glide just above the water, snag a fish with their feet, and fly off to eat
it.

These carnivorous birds can only lift about half their body weight. If they catch a fish that weighs

more than that, they might hang onto it with their talons and “swim~ to shore using their huge
wings.
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Questions 67— 72:
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Choose the one best alternative from the four options (a), (b), (c) and (d):

67. The name “bald eagle” originally refers to

a) the bird s bald head

b) the bird s white head

c) the bird s graceful movements
d) the bird s white wings

68. Which one of the following statements is NOT true?

a) Bald eagles are the national symbol of the US.
b) There are laws that protect bald eagles.

c) Bald eagles became extinct 40 years ago.

d) Female bald eagles are slightly bigger than males.

69. What color are baby bald eagles when they are born?

a) gray
b) white
c) brown
d) black

70. Where do bald eagles usually build their nests?

a) In the grass.

b) Just above the water.

c) At the top of trees.

d) Close to people s houses.

71. How high can bald eagles fly?

a) 8 feet

b) 9 feet

c) 20 feet

d) 10,000 feet

72. How do bald eagles usually catch a fish?

a) By diving under water.

b) By using their great eyesight from the top of a tree.

c) By dropping down from the sky and grabbing a fish with their feet.
d) By swimming in the water using their huge wings.

W= (HEf)

Choose the best answer for each question.

=== y8E 7 HE = B [ A2
TN ECRERE

1. 4% - 8 =
(a) 29x (b) 28x (C) 26x (d) 25x (e) 24x
2. The length of each side of square A is increased by 100 percent to make square B. If the

length of the side of square B is increased by 50 percent to make square C, by what percent
is the area of square C greater than the sum of the areas of squares A and B?

FHERTE A NREEERMITES CEEHIERE B o FHRIERE B HEHEE EH N
HAZh-HEHIERE C» Al C fEfEEtL A Bl B lEIEAEM L Hr 22 ?

(a) 50% (b) 75% (c) 80% (d) 150% (e) 180%

3. If a fair coin is tossed 4 times, what is the probability that at least 3 of the 4 tosses will

come up heads?
FF— B TR S 4 2% » H R4 3 RIS EEERZE %D ?

(a) 5/8 (b) 5/16 (c) 7/8 (d) 7/16 (e) 9/32
4, The average of 6 consecutive integers is 18.5. What is the average of the first 5of these
integers?

6 fHHE AR T ESE 18.5 « Hrpy 5 (A REH FYEZ S D ?

(a) 12.5 (b) 15 (c) 16 (d) 17.5 (e) 18

5. A car salesman earns $6,000 salary each month plus 10 percent commission on the value of

his sales. If he earned $20,000 last month, what was the total value of his sales?

—{EVREH & B H Y EHTE $6,000 » LEAL Al BRECSH B4R 10% ORI o 45 L8 H il
A £5$20,000 - MR SH BEHUZE %2 ?

(a) $140,000 (b) $150,000 (c) $160,000 (d) $170,000
(e) $180,000

6. If mAn is defined by the equatio mAn= m’ —n+1_for all nonzero m and n, then
3A 1= mn
# omAn HEE pap-l=n+l  FREF > Hifm fln AIEEEE N3 A 1=
mn
(a) 9/4 (b) 3 (c) 1173 (d) 6 ()9
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10.

1.

12.

13.

26

An alloy of tin and copper has 6 pounds of copper for every 2 pounds of tin. If 200 pounds
of this alloy are made, how many pounds of tin are required?

FH S & eI ~ SR ILE 2 6:2 o FHEEIAL 200 BFEE G S 0 FEL DB
574

(a) 25 (b) 45 (c) 50 (d) 125 (e) 150

If 3m < 48 and 2m > 24, then m could equal which of the following?
#3m < 48 Jz 2m > 24+ Jif m AJRESE A LT WE—1

(a) 6 ) 8 ©) 10 @ 12 () 14

Tom has $100 more than Robert. After Tom spends $20 on groceries, Tom has 5 times as
much money as Robert. How much money does Robert have?

GIRELZE AR 2 $100 o SIRTEFEE S & $20 1% - MBS SRR 5 6% o (A%
ICEZS N

(a) $90 (b) $50 (c) $40 (d) $20 (e) $10

A factory cut its labor force by 16 percent, but then increased it by 25 percent of the new
amount. What was the net percent change in the size of the workforce?

HLRH A 16% » HIRE SIS T 25% B L o 4= M LR R IR T 5552 %\
EO=

(@) 5% increase 4N 5%
(b) 9% increase ¥4 9%
(c) 10% increase M 10%
(d) 5% decrease &4 5%
(e) 10% decrease J& 10%

How many possible positive integer solutions (x, y) satisfy xy — 3x?>= 12?

B Z YA RERVIE R EAE (x, y) T xy - 3x% = 122
(a) 3 (b) 4 ()5 (d) 6 (e) 8

Find the sum of all integers between 50 and 350 whose last digits are 1.

£ 50 #1350 Z I ATERALE 1 FEEBZNRZS D ?
(a) 5880  (b) 5539 (c) 5208 (d) 4877 (e) 4566

Year 3 students of an international school are divided into two groups. Group A contains
2 Australians, 4 Americans and 5 Chinese, while group B contains 3 Australians,

3 Canadians and 4 Chinese. If one student is selected randomly from each group, what is
the probability that the two students selected are of different nationalities?

— it B PR AR Y AR BB A S B A o A A0S 2 N 0 4 ArSEEI AR 5 R
A B#E 3 MBEIMA > 3 ALINERAT 4 (LB o #H5ESEAH R FEs B — 0224
+ FIEE Y T 44 22 AR REE AN RIE R 2 2 2

14.

15.

16.

17.

18.

19.

(a) 0.2182 (b) 0.2364 (c) 0.6545 (d) 0.7636 (e) 0.8182

The first 3 terms of an arithmetic sequence are h, 6, k, and the first 3 terms of a geometric
sequence are h, 5, k. Find the value of (h — k).

CUET—{H F AT =582 h o 6 0 k> — (R =5 sh > 50 ko
Kh -k ZE

(a) — 88 (b) 44 (c) 88 (d) 94 (e) 144

The graphs of y =b -~ I x —aland y =1x + al for b > 2a > 0 intersect at (x,, y,) and
(X,, ¥,)- Which of the following is true?

EHlb>2a>0 HEEly=b - Ix—al iy =Ix+al WEFEHEHZTR x,y) &
(x,, y,) * RITFHIA & 2 H5 7

(@ x +x,=-aand () y +y,=-b
b x, +x =aand () y +y,=b
(0 x,+x,=0and (f)y +y,=b
(d x, +x =band () y +y,=a
() x, +x,=0and (&) y, +y,=b2

Two nonadjacent vertices of a rectangle are (4, 3) and (— 4, — 3). The coordinates of the
other two vertices are integers. How many such rectangles are there?

— R HI R E AR TR B (4, 3) B (= 4, — 3) - 17 L fo o {1l TG A AR AT 5 2B, -
Tl 2 D EER VAR ?

(a) 1 (b) 2 (c)3 (d) 4 ()5

Three different numbers in increasing order are chosen from {1, 2, 3, ..., 10} so that no
two of the numbers are consecutive. How many different ways are there?

RS (1,2, 3, ..., 10} FRBEHNI PP 2E = {8 A R A8 - (EH 2 A (A7 7 (8 202 2
My - S AR R ?

(a) 20 (b) 48 (c) 54 (d) 56 (e) 72

The inverse function of x> — b for x =2 0 is +/x+b , where b > 0. Find the solution of the
equation x> — b=+/x+b for x.

BTGB C — b (x 2 0) IREIUE Vx+b - Hib >0 fisfay - b=vx+b o
Z X o

() \/4b;1+1 (b) «/2b-£l+l (C)«/b-|-21+1 ) \/b2+l () Vh+l

In AABC, P is the circumcentre, /B =90° and BP = 5 cm. If the area of the triangle is
24cm?, find its perimeter.

£ AABC /1 - P BEZIMEZEL » £LB=90" J BP =5 cm e FH=APHHERZ 24 cm’
P SRE RIS o

(a) 14 cm (b) 19 cm (c) 24 cm (d) 26 cm (e) 28 cm
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John rolls four standard six-sided dice and finds that the product of the numbers of the upper faces wMoomo MmO
Instituto Poeditéenico de Maca

Mo Molyiechnic Institate

e 2

is 144. Which of the following could not be the sum of the four upper faces?
AV 4 FEAAMEE ST T BIE] EAVEEFEZBE Ay 144 o THIME—B AN v e 2 PUAE A R

Cra ik N B R E E K

Admission Exam Answer Sheet
(a) 14 (b) 15 (©) 16 (d) 17 (e) 18

= i 7Fi / Remarks A Sl (68T )

Candidate number (six digits)
FetRIAERE B FE AR 3R R
¢ Please write and fill your candidate number in the box, otherwise the answer sheet wilbe &~~~ — — — — —— ——
considered invalid ; o [ [ [ ] @] [
sy LA I u e ap -
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